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I Addressing contradiction between the assumption of our mwn (vap for n13 *2NN) and R: NN
1. contradiction: R:3 man stipulates that N1 *271Nn receive mMan
2. premise: DYWM NPY 1R (i.e. cannot receive Man and be financially liable for 1 act)
3. resolutionl (851p): our case is N1 IMNR (where Vi applies); Mman refers to N2 MNR (no vVp)
a. clarification: in our case, must be that she is a nv1w and a nman (>no Dia/NYI11, no YY)
b. alternatively: she is a nman and an orphan (no Dya/nwia)
c. implication: R9 maintains that pyn trumps mon
d. gquestion: what is his source
1. possibility #1: n5an (pay damages, no man for violating nxon)
a. challenge: n5an is more severe than other financial liabilities — carries 5 categories of
payment
i. additionally: if we view 1n as %p, nvan is lighter, in that it is permitted in
7M1 (v. 3)
2. possibility #2: onmit 0*TY (pay, no man for Myn RY)
a. challenge: »nmr 07Ty is more severe — liable without NN
i. additionally: if we regard nnn as Yp, mnmr o1y are "lighter” in that they did
nothing
3. possibility #3: combination of nban+onmr oY (NWN T¥)
a. challenge: they have a m1nn 78 in common
i. additionally: if we view nnn as Yp, they have a 5p ¥
4. rather: w"n (vv. 1-2 — using nnn)
a. Just as: battery carries financial liability, no man
b.  Similarly: n"R carries ©ip, no Man (even for MR’ NMOR)
4.  resolution2 (211 79): both cases are nay1 — our case is without nRInn (= no Man >pnn)
a. implication: MY "1 maintains that man triumps pon
b. question: what is his source
c. answer:v.3
1. part 1: 1myw1 »12 implies — only one punishment
2. part 2: next phrase is man ->man is the "one"
d. challenge: y9ana 521N (pay, no man)
1. suggestion: perhaps only pay if no nxnn
2. rejection: ruling that if battery < 8”v, batterer gets man (>must be with nxnn)
3. answer: the nn specified payments in re: nvan (just as with onmr ory)
4.  therefore: these 2 cases are unique and do not stand as a challenge to the rule
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